211/1 BOOM ARM

21110-300-01 nickel,

21110-300-55 black,

21110-300-02 chrome,
21110-300-57 white

1.4

1.3 /

1.2

1.1
Pos.  description art.-no. art.-no. art.-no. art.no. qty.

nickel chrome black white

1 swivel joint cpl. consisting of: 7-211-000301  7-211-000302  7-211-000355  7-211-000355 1
1.1 carriage bolt M8 x 30 mm 03-07-530-45 1
1.2 swivel head 3/8" 02-40-430-55 1
1.3 rubber washer 3mm 03-21-161-55 2
1.4 steel washer ¢8,4 03-11-525-01 1
1.5 toggle w/nut M8 6-30351-1-01  6-30351-1-02 6-30351-1-55 6-30351-1-55 1
1.6 swivel joint 7-211-000255 1
1.7 knurled knob M6x12 01-82-828-55 1
2 hand grip0 01-95-845-55 1
3 plastic cable holder 215 01-85-960-55 1
4 knurled knob M6x12 01-82-828-55 1
5 aluminum threaded washer 3/8" 03-31-525-00 03-31-525-00 03-31-550-15 03-31-525-00 1
6 cap w/thread-eye M6 02-40-746-55 1
7 circlip 01-95-450-55 1
8 3/8"-thread 01-04-455-29 1

1/17-

o
K&M

(

SPARE PARTS MICROPHONE STANDS

SM
2111




